Rolling Curve - Dragilev Method
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RK N):= — D
A:=stack —d—f(X, v), d_f(X, Y)] (s.17) |dn_AdamsMoulton(Xo,0,s,N 1, D)
dy d x
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Plot (t, MO, C, H):= augment[Re[MOt],Im[MOt]+H]
<matZSysl[én:::augment[Re[Cnt],Im[Cnt]_}_HJ]
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[Fl—Example
Example f(x,y)::z.x2+y4_2 Clear(x, y, t)=1
Xo::stack(o,roots(f(o,y),yq 1” N:=200 F=T o0l
[x v]=[Y¥71 Y, [ s]:=al_nlegsolve(s, ¢)=[7.3375] MR:=MR (1, RK (s, N))
k,:=0.6 MO, =MO (T, );)  Cpi=C(n, T, MO,
k,:=1 MOZ::ﬂﬂD[T, kz] Cé::(f[n, T, MOZ]
ky=1.2 MOy :=MO (1, k)  C3:=C(n, T, MO,)
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[Fl—Example

Example

[ Y]’Z[lll uz]

f(X, y)::2.X2+3.X.sin(x,y)+y4_2

Xo 1= stack(O, roots(f(o, v), v, 1]]

[ s]:=al_nlegsolve(s, ¢)=[10.0445]

Clear(x, y, t)=1

N:=100 s:=10

MR:=MR (T, RK (s, N))

k,:=0.6 MOl::MO[T,kl] CI::C[I’I, T,MOl]
k,:=1 MOZ::MO(T,k2] CZ::C(n, T,MOZ]
kj:=1.2 MOB::MO[T,kj] CB::C[n, T,MOB]
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